










ENGR-2300 Quiz 2 Fall 2018 

 6  P. M. Schoch and M. Hameed 

c. Find the approximate acceleration a(t) of the beam from your answer to part b. Again, 
use real values for the constants and provide units where appropriate. Hint: Keep only the 
largest term in your expressions. (𝑓𝑔)′ = 𝑓𝑔′ + 𝑓′𝑔 {4pts} 

 

 

 

 

 

d. A guess is made for the amplitude of the beam position x(t). The consensus of the team 
partners is that the displacement is about 2cm or 0.02m. Write the mathematical 
expression for the position in the form tBetx t ZD sin)( � in meters, find the approximate 
velocity v(t) and compare the result with your answer to part b. Was the guess high, low 
or about right? {4pts} 
 
 
 
 

 

 

 

 

 

e. Assume that you would like to build an LC oscillator circuit that operates at the same 
frequency as the beam above. You have an 4700 µF capacitor and need to make an 
inductor. What value of inductance is necessary to achieve this frequency? {3pts} 
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